## **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 5 - East Mainland South Ronaldsay and Burray Ward		
Valid Votes	1,344		
Positions to be Filled	3		
Quota	337		

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
James MOAR	Independent	111
Eric PAGE	Scottish Greens	195
Raymie PEACE	Independent	642
Julie RICKARDS	Independent	118
Gillian SKUSE	Independent	278
	Total	1,344

Candidate Raymie PEACE Elected with 642 votes, being in excess of the quota of 337

## **Transfers Report**

This report contains the transfers results.

305.00000

### Stage 2 - Surplus of Raymie PEACE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James MOAR	199	0.47507	94.53893
Transfer to Eric PAGE	45	0.47507	21.37815
Transfer to Julie RICKARDS	100	0.47507	47.50700
Transfer to Gillian SKUSE	216	0.47507	102.61512
No further preference	82	0.47507	38.95574
Not transferred due to rounding			0.00506
	Total		305.00000

## **Transfers Report**

This report contains the transfers results.

# Stage 3 - Surplus of Gillian SKUSE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James MOAR	51	0.11459	5.84409
Transfer to Eric PAGE	52	0.11459	5.95868
Transfer to Julie RICKARDS	128	0.11459	14.66752
Transfer to James MOAR	54	0.05443	2.93922
Transfer to Eric PAGE	23	0.05443	1.25189
Transfer to Julie RICKARDS	90	0.05443	4.89870
No further preference	47	0.11459	5.38573
No further preference	49	0.05443	2.66707
Not transferred due to rounding			0.00222
	Total		43.61512

### 43.61512

## **Transfers Report**

This report contains the transfers results.

## Stage 4 - Exclusion of Julie RICKARDS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James MOAR	51	1.00000	51.00000
Transfer to Eric PAGE	19	1.00000	19.00000
Transfer to James MOAR	31	0.47507	14.72717
Transfer to Eric PAGE	13	0.47507	6.17591
Transfer to James MOAR	26	0.11459	2.97934
Transfer to Eric PAGE	23	0.11459	2.63557
Transfer to James MOAR	24	0.05443	1.30632
Transfer to Eric PAGE	11	0.05443	0.59873
No further preference	48	1.00000	48.00000
No further preference	56	0.47507	26.60392
No further preference	79	0.11459	9.05261
No further preference	55	0.05443	2.99365
Not transferred due to rounding			0.00000
	Total		185.07322

### 185.07322

## **Transfers Report**

This report contains the transfers results.

251.99893

## Stage 5 - Exclusion of Eric PAGE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James MOAR	78	1.00000	78.00000
Transfer to James MOAR	25	0.47507	11.87675
Transfer to James MOAR	28	0.11459	3.20852
Transfer to James MOAR	15	0.05443	0.81645
No further preference	136	1.00000	136.00000
No further preference	33	0.47507	15.67731
No further preference	47	0.11459	5.38573
No further preference	19	0.05443	1.03417
Not transferred due to rounding			0.00000
	Total		251.99893